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Answer Sheet: Prepositions after Nouns

Choose the correct answer.

Q1 - Thedecrease demand has caused a hugedrop in their profits.
D on
v in

Q2 - Thestorm did alot of damage theroof.

[ a
I:I of

v to

Q3 - Therewas a decrease 10% last year.
[ a
v of

Q4 - Hisattitude hiswork isvery negative.

I:I for
D of

v to

Q5 - Did they give you thereasons their decision?

v for

I:I of

Q6 - There hasbeen afall prices.
D of
v in
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Q7 - What wasthe cause the problem?

I:I for
I:I in

v of

Q8 - He has a difficult relationship them.

v with
D of
I:I between

Q9 - | can't tell the difference them.

v between
among
of
Q10 - They were congratulated for their success tracking him down.
] on

L a
|:| n

of
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